E0E0 I gReIt) @LBILD TDDGE - I DAVDEBIES

Distance and Continuing Education Unit - University of Ruhuna

@e5)@0E 08195 (BBJ) ¢ed YOO v 2014 yO® 00 ulmeams - 2017 eeyE
Bachelor of Arts General (External) Degree Part I Regular Examination 2014 - April 2017

es0e83 2.1 - 0B
STG 2.1 - Mathematics

gy 89O (05) s 88xnd; ssezim.
(v @zl wIDm mE eV B w)
woce s (03) na.

1. (8) sv»n cfedm b x Bswvews! gdmEHE DS,
. fx)= (Zx +5)(x% + 4)
i fo0 =52
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i f(x,y) =In(x* + 2xy — y?)
ii. f(x,y) = (x*+y2 — xy) (cmen 3x2=6)
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i flx,y) =x3y —yix + x

i, f(x,57) = ln(\/x2 —y2 4+ 2xy) (emen 4x2=8)

2. (g).y=2x>—9x% + 12x 0pod dds culenns? eww SO ¢8O, ad® ewd HBDEOD
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i f(3x* -3 + -+ 4)dx (e 2)
ii. [sin3xdx (cmem 2)
iil. [ dx (cmes 2)
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vi. foﬂ sin®x dx (cmew 4)
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i [ x%e’* dx
i. [xinxdx
iii.  [xe ™ dx
iv. [(x+4)°dx
v. [2xV1+x%dx
vi. [ 2xe* 5 dx
vii.  [x*(1+x°)%dx
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(8).a=3i—3]+kewob=40i+9]+ 2k ec¢8m e¢m ©d¢ v Daewes’ &f w@sizpged
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(9).a=2i+3j+4k ewwb =50+ 6]+ 7k eec@m cem god endamed s8x7 (sin) ene
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iii. —+2y=e

iv. ZxZ—y —y=x+1

V. xyZ—x+4x
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i.A= ( 2 -3 4 ) 8B YHeCEI® mHBwne GewIesIB).
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XA =2 =—3
2x —3y+4z =123
—3x+y—dg=—15
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(a0). Bo® e Fedm 8P wdmden vdRBwW B8 Bhw wiIlnews? Buexim.

3x+y+z=3
2x+2y+4+5z=-1
X—oy =47 ={
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